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Recently, which mission received the 2024 John L. *Jack’ Swigert Jr. Award for space exploration ?
(A} Mars Orbiter Mission (B) Gaganyaan Mission

(C) Chandrayaan-2 Mission (D) Chandrayaan-3 Mission
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Which country became the first to make use of Bitcoin as a legal tender in 2021 ?
(A) ElSalvador (B) Switzerland (C) Venezuela (D) Japan
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and intricate footwork ?
(A)  Kathak (B) Chhau (C)  Kuchipud (D) Bharatnatyam
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What is the Pradhan Mantri Fasal Bima Yojana (PMFBY) 7

{A) PMFBY improves rural i and provides o to youth in
agricultural communities.

(B) ltregulates agriculiural markets and ensures fair prices for farmers’ produce.

(G) Supports sustainable production in the agriculture sector.

(D) Supports and promotes organic faming practices and provides subsidies o farmers for the
adoption of sustainable agricultural methods.
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Which country is known for its extensive use of geothermal energy due 10 its unique volcanic
landst L

(A) Australia (8) Brazi (€} Norway (0 lceland
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The financial or the banking system an additi interms of Grore of
base money each year.

@A) 1-2lakh (8) 10-11 lakh (C) 7-8lakh D) 4-5lakh
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The national currency of Sri Lanka is :

(A) Kyat (B) Ringgit (C) Rupee (D) Euro
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Which is the largest museum in India ?

(A) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai
(B) Salar Jung Museum, Hyderabad

(C) Indian Museum, Kolkata

(D) National Museum, New Delhi
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The economically secure white people migrated from urban areas to suburbs is called :
(A} Migration (B) Immigration  (C) White flight (D) Black flight
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What does “verified account” signify on social media platforms like Twitter and Instagram 7
(A)  The account has a high number of followers

(B) The account is used for advertising

(C) The account is frequently used

(D) The account belongs to a public figure or organization and is authenticated
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Who was the Viceroy of India at the time of the Quit India Movementin 1942 ?
(A)  Lord Mountbatten (B) Lord Irwin

(C) Lord Linlithgow (D) Lord Wavell

wra sfiredl ®Y i s & e st § s fwm e §?
The Universal Declaration of Human Rights is into how many o
(A) 400 (B) 500 (C) 300 (D) 200
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Which company has become the first company in India to trade domestic gas on Indian Gas
Exchange 7

(A) Bharat Petroleum (8) Oil and Natural Gas Corporation Ltd.

(C)  Indian Oil Ce imited (D) GasAuthority of India Limited (GAIL)

2014 T wra § e wif e e we fen?

&) FemaEE () W (C) =fEm g (0) zme ¥
Who received the Nobel Peace Prize in 2014 in India 7

(A) Kailash Satyarthi (B) Mother Teresa  (C) NadiaMurad (D) Amartya Sen

o fom 1 e Friw feam & w0 § s s &7
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Which day is observed as No Smoking Day ?

(A) First Tuesday of March (B) Third Saturday of January

(C) First Day of May (D) Second Wednesday of March
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(B) Feifas el w1 wifoa =l &

(C) e Al 1 w2

(D) o-yd ofead 3w F g snfls, afr o siepfas ded A e 3@ E
In relation to ASEAN, what is the imp of India’s Act E: ?

(A) Reduces trade opportunities

(B) Limits diplomatic engagement

(C) Promotes isolationist policies

(D) Enhances economic, strategic, and cultural ties with Southeast Asian countries

F i siwige H T F A W R E
Which international treaty focuses on the rights of children 2
(A) CRC (B) CEDAW (€) ICCPR (D) ICERD

e H i g e R Wi d e I 7

(a) T (8) Farar © @ (D) o=
National Milk Day is observed in India, in which month ?

(A) MNavember (B) December (C) June (D) September
fam fFa R g ¥?

(A)  AEWEET B) ¥R (cy == (D) afwE
Real is the currency of which country ?

(A) Afghanistan (B) Bhutan (C) Canada (D) Brazil

=i 2021 ¥ rd % sia ¥ yafE 2000 T & 7 Ty (vva e ) w0 d?
Whal is the value (in INR trilion) of Rs. 2000 notes circulated al the end of March in the year 20217
A 190 B) 200 (C) 600 (D) 480
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(D) =39 ufyrE vEHE wR s e

SAARC stands for :

(A)  SouthAfrican Association for Regional Cooperation
(B) Southeast Asian Association for Regional Cooperation
(C) South American Association for Regional Cooperation
(D) SouthAsian Association for Regional Cooperation

AT 0w F wi R T Ee

(A) TR g (B) WA % @A HEM
(C) waFEwHR (D) W

Who has the power to dissolve Lok Sabha ?

(A) Speaker of Lok Sabha (B) Chief Justice of India
(C) Prime Minister (D) President
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In terms of economy, what is the full form of ITC ?
(A) Input Tax Credit

(B) International Tax Company

(C) Internal Trade Commerce

(D) Internal Tax Commerce

Frerfiafem 4 2 3% wewm i wig o e i afefER (MGNREGA) 31 UF fasmar £ 7
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Which of the following is a feature of the Mahatma Gandhi National Rural Employment Guarantee Act
(MGNREGA) ?

{A) Offering employment in the privale sector

(B) Targeting only skilled labor

{C) [Providing urban employment

(D) Guaranteeing 100 days of wage employment per year

ifafaart w1 #2

(A) I S O F SaEn S F

(B) i St e Wil #1 g wE

(C) =i i1 eI 1 313 F €

(D) T S S WA F EeR 1 AT i §
Who are ethologists ?

(A) Scientists who study the behaviour of humans

(B) Scientists who study only plants

(C) Scientists who study ethos

(D) Scientists who study the behaviour of wild animals

i et aifufram, 1956 fm F A wam dm d 2

(A) TR wT () WM AT €) T (D) FmF
National Highways Act, 1956 is applied to which tax policy ?

(A) Professionaltax (B) Entrytax (C) Tolltax (D) Servicetax
DDoS =1 F# i #

(A) = fearme Wi wfdm (B) fere foarmm @i wfdm

(C) fefigerzs femm witw wfdw (D) fefzepe &1 =it o
FullformofDDoSis .

(A) Direct Denial of Service (B) Detailed Denial of Service
(C) Distributed Denial of Service (D) Distributed Data of Service
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W F T S (T T R ) i g s

(A) T H % 2T & T A S s g

(8) i v % A % A wepfn SeE-ge s A Ees aEe)
(C) =hm-yd oferm % T st it At Sl w0 TeEn =

(D) W % i T fomm &1 g &

What is the main purpose of India’s Look East Policy ?

(A) Improve relations and trade with European Union countries.

(B) Enhance cultural d leto-peopl with countries in East Asia.
(C) i gic ties with Asia.
(D) Promote agri within India.

geter| g weifea Jefirmam OTT Hifa - faeedt m = frdwm fed femn 2

() Ee Hea (B) feht frean

(C) fawmer smgrt (D) ffaer sweami

Who directed the critically acclaimed Netflix OTT series - Delhi Crime ?
(A) HansalMehta (B) Richie Mehta

(C) Vishal Bharadwaj (D)  Nikhil Advani

wiag e 3 fed offe 2 Afea’ ek gra forell o 22

(A)  wHUH FE (B) i zwm (C) wfs mEl (D) fa= im
Famous book “The Return of the Native' is written by whom ?

(A)  MM.Kaya (B) LioyDouglas  (C) Thomas Hady (D) Bill Gates

e Frefatas | | f58 7 9 uh v wa 7

Ay T (B) Al (C) =g (D) WM
Ellora is a sacred site in which of the following state ?

(A) Gujarat (B) Karnataka (C) Maharashtra (D) Rajasthan
srerR | fare w i #2

How many countries are present in Africa ?

(A) 50 (B) 54 (C) 52 (D) 56

P s 0

A R faded s (B) EF wadl H A fainedt i

(C) Ay A (D) =i A s Taid sifwmA

What is the ‘Operation Green Hunt' in India ?

(A)  Anti-Naxalite operation (B) Anti-drug trafficking operation

(C) Anti-piracy operation (D) Counter-insurgency operation in Kashmir

TeEfifer T (W ) R s €

W whTE (8) Tomh () wmTE (D) =R
Galilean sateliites (or the four moons) belong to which Planet ?

(A)  Satum (B) Jupiter (C) Uranus (D) Neptune
T, whire s v § -

() wRwfs () fem (€) ward e (D) s Hufa

Trademarks, copyrights and patents are :
(A} Current assets (B) Investments (C) Fixedassets (D) Intangible assets

Frefiefers & & =i 2w v # frifi $da dem T S8 T T W oa?

A A e B W

(C) g T e (D) T =

Which gl the following countries was the first 1o achieve contrelled nuclear fusion in a laboratery
sefting

(A)  Soviet Union 8) France

(C) United States of America (D) United Kingdom

i s i TAgE @ Wl @ S S Ea Ager e &

Ay = femafam (B) FAwfEm (€) i-fmafem (D) fefem
involves changing data prior or during input into a computer.

(A) Datadidding (B) Catfishing (C) E-mail bombing (D) Smishing

TGHIAE (WP) FIq & & ;

(A) = T f2E (B) ¥ Tridwm

(C) drerim wEE N (D) ¥ W B
The full form of WPl is :

(A)  Wall Price Index (B) Whole Print Index
(C) Wholesale Price Index (D) Whole Price Index

30 Fel w1 s 1.2 &7 A 20 W oh 1.1 # i st o W o 1 & ) i Gy
12 age of the first 20 of them s 1.1 and that of the next 9is 1.

mmh"dnmiﬁ'
w4 ® 5 © 48 o 48

T RS 7R 66 TRl ® v v e A o wm %1 ol 56 fRd e B, M amm o am
o fore Tt €7

Excluding stoppage, the speed of bus is 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min 7

A 2 (B 10 © 15 D)y 18

it 8 w6 s e i # t q0 Tt it 30 T feemm §1 29 9= R e
AR H ToEr e Ay i e 91 32 ) s A vwd e A

The ratio of quaniities of sugar in which sugar costing Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no gain or loss when the mixure is sold at Rs. 32/kg ?
w1 ® 1:4 © 2:1 () 3:1

300 AFHT 30 ForFa e, 500 T F F U F A Y, & v W 7 virem ww w i
S.P. of 300 articles is equal to G.P. of 500 articles. Find the loss or profit percentage.
(A} 65(2/3)% (B) 24(233)% () 25(23)% () 72(2/3)%

UE AT oo §, A F0 W9 F 146 % o ot w1 146 v frim e #, B FA W E 14 F fag
it #1144 v e F & s c i g 1o F fan P s g 1040 T E A F B W feem
ferm &7

Ina parership business, A invests 16" of the capital for 1/6 of the total time, B invests 1/4" of the

capitalfor 1/4 of andC, the ipital for the whole time. Find the shara of B, out
of aprofit of Rs. 1940.
(&) Rs. 160 (B) Rs. 180 (C) Rs.200 (D} Rs. 120

afz Pt 7 AT T B 40% A sfwa bt am F s 5o v R wwE, @ 1%
a1 atfrm s g B 1 ol v o w1 F e 2,400 w9 B ob e s A b, @ el a
) faws qFa = g e 2

An arlicle Is marked 40% above the cost price. Il a discount of 1% ks given on the marked price of the
article, then a final profit of 12% s obtained. Now if C.P. of a new article is Rs. 2,400 and x% profitis
desired then what should be the selling price of that new ariicie ?

(A) Rs.2,880 (B) Rs.3480 (C) Rs.2,400 (D) Rs. 2480
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82

83

84

85

86

87

88

89

Q0

91

a2

93

94

95

96

97

98

g T 7 s faed 990 5ft 1330 F1 fnafera w7 w w6 A 10 e W @ §
The greatest number which divides 990 and 1330, leaves remainder 6 and 10 respectively is
Ay 15 | 20 (C) 24 @) 35

afe 6 wrif = shw w50 e #; 2 onll @ st sw 53 fen @, s 2 o 1 s smss fem b
it ol W i unk:
(8) 55 (8) 51.6fFm (C) 64 fem (D) s2.5 fem

I the average weight ol 6 students is 50 kg; that of 2 students is 53 kg: and that of 2 students is 55 kg;
then the average weight of all students is :

(%) 55kg {B) 516ky (€) s4kg (D) 525kg

TF AR 3 80,000 T F uF urer oft vw e wid | 3 9% 0 10% F w0 v odwomwd w50 #]
wfy o & o) 39 o AR W19 e A ¥, @ A e e iy

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost price of the
horse ?

) 18,000 (B) 20,000 (C) 30,000 (D) 32,000

TF 74 79.2 fEd/va # fa @ ww T & 7w 7 T A 0F w0 W W R £, @ W R e T
i 1

Ay 154 By 1507 © ngH (0) 126

A trainis running with a speed of 79.2km/hr and it crosses a polein 7 sec. Then find the length of the
train,

A) 154m 8 150m © 118m ) 126m

3 W W AT 3 42 6 & W W g0 BRE gh e F e e wen e iy
The ratio of speed of 3cars are 3 : 4 : 6. What is the ratio of time taken by these cars to cover the
same distance 7

(A) 4:3:2 (B) 2:3:5 (C) 3:4:6 (D) 6:4:3

50% 3R 40% F1 FoF 72 el vFe g2 F T E?
Successive discounts of 50% and 40% equal a single discount of :
A) 70% (B8) 48% (C) 80% (D) 20%

w2 R g 1 7% T Tea % 6% % T i 1f e g o o 9 gEE W 2 T A 10% S
&, @ %7 ew oiv fawn e 9 wifaa

11 7% of S.P. is equal to 8% of C.P. and if 9% of S.P. is Rs. 2 more than 10% of C.P, then find C.P. and
SP:

(A) 700, 800 (B) 800,950 (C) 350, 700 (D) 350, 400

wF faardt 4 6 WA= F T 6 v - F o s o v B e s
W 5:6:7:8:9:10 % A ¥ #1 e BT 35 60% 3 wra ) 39 e we-wl § st
1 % 60% & % ai% ur fe 2

Astudent appeared in 6 papers. The for His marks in this
paper are in the proportion of 5:6:7:8:9:10. Overall he scored 60%. In how many papers he received
less than 60% marks ?

w4 & 5 © 2 o 3

39 wahm wfafam 10 W2 w% w0 12 T ¥ v g 9 wow wuaw € @ 30 whw s e R w
FE ¥ W T o F o g
A) 14 fe (8 15fa (c) 20fm D) 26fA

39 persons can repair a tunnel in 12 days working 10 hours a day. In how many days will 30 persons
working & hours a day complate the werk ?
(A) 14 days (8) 15days (C) 20days (D) 26days

ATE T F 63 B § EEN B, AT E 40% S FTEE M i m i T
fem el 1 wden w2

A) 45t | a9t © 40fm (0} 60 fm
Acan do apiece of work in 63 days and Bis 40% sent than A, Th of
by B 1o do the same work s ©

(A} 45days (B) 49days (C) 40days (D} 60days

0.7,0.35,1.05 F1 AAT.(HCF) TR FAT1
Find the HCF of 0.7, 0.35,1.05.
(A) 035 (B) 1.005 (c) 0.07 (D) 0.7

uw fafem wafa w2 = % fog 5o % R wEats v 3280 ¥ £, A Om win feeR €2
The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum is :
(A) Rs. 32000 (B) Rs. 34000 (C) Rs. 30000 (D) Rs. 36000

12,000 T4 T 9 W F AT 20% Wi W W WA Tl =W, et e e
The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound
quarterly is :

(A) Rs. 2136 (B) Rs.1750 (C) As.1891.50 (D) Rs.2089.70
HAfE T =

o w7

W ®) wEg © =i ) T

Find out the related word :
Triangle : Polygon :: Square : ?
(A) Rectangle (B) Rhombus (C) Quadrilateral (D) Circle

afz W ‘RECONCILE' ¥ 44, 58, 78 3w 6% sl & vz mddes 0 svill 0 s 0 b &1 A
STl = W F R S e e T

) . (B) =® C = ) #

If & meaningful four letters word can be formed from the 41, 5%, 7, and 8 letters of the word
"RECONCILE'". Using that letters how many meaningful words can be formed 7

@A) Three (8) Four () One ©) Two

e il 2 v §, FLOWER' %1 'RFOELW' % ¥ 8 e foen mm &, 31 ANIMAL %1 78 W feren

e
In a certain code language, "FLOWER is coded as 'RFOELW!, then ‘ANIMAL will ba written as :
(A)  LANJAM (8) LAJDNM (C)  LAANM (D) LANIAM

7 g 1 5l o] xherd 3 i 9w el ¥ < Fo o s g g e e ma

Select the option in which share the same of
numbers.

12:20

A) 30:42 (8) 25:57 (€ 34:31 D) 19:33
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99

100

101

102

103

104

105

106

107

108

109

110

111

srom F wE sl wEt frel e @ e w1 @ e = @ s = wen) e s A
uromd: L o e F ¥ g e

L HmE am
fremd: 1. AR
2. Ayl

(A e Prad 2 spen we B) 9 Frad 1 st 2 e
(C) e Framd 1 s wen ¥ (D) 2 Froad seEm @ §
Readthe d b i i
definitely.
Assumplions: L Ajay is the father of Shreyas, Suraj is the brother of Shreyas.
I Seema is the mother of Shreyas.
Conclusions: 1. Seema is the wile of Ajay.
2. Seema is the mother of Suraj.

(A} Only Conclusion 2 lollows (B) Neither Conclusion 1 nor 2 follows

(C) Only Conclusion 1 follows (D) Both the Conclusions foliow

wfia wrez 1 v T

vy Tafdeas gl ooagd: 7

[ ® ©) v (D) #m
Find out the related word.

Surgeon : Scalpel :: Carpenter : ?

(A) Brush (B) Saw (C) Computer (D) Camera

formfeifer 4 @ % m sviva Aleemsi, Al st & w9 T S e A A T d 2
Which o!ﬂlne following diagrams best represents the relationship between Women, Mothers and
Fathers

) OOO © @O ) @

o 3 ¥ i e ok ik § o 2o okt avwad yu 9 €, @ o s fem fom 9 sinofe wek
&

)

# = ® ©) wew (D) =fm
It you start facing East and turn 270 degrees anticlockwise, what direction are you facing now ?
(A)  Morth (B) East (C) West (D) South

Frorferfarm w8, o o T A wmww ar v fen o #1 2E @ o e o o v o st
T T T W AT AT E T T T T |

o TR 9T - “MACHINES®

In the following question, you'l find four other words provided alongside a given word. One of these
‘words cannol be fermed using the letters of the given word. Can you identify that word 7
Givenword : "MACHINES™

(M) NAMES (B) CAMEL (C) MESH (D) SEAM

3 firm T = T E ETER A 2006 3R 2007 % #A U W SR vt A e 6
s ( 1000 %7 wem ) =afm &)

The bar graph given below shows the sales of books (in 1000s) from six branches of a publishing
company during two consecutive years 2006 and 2007,

2006 3HT 2007 # U A S F1 T RS - AL, A2, A3, Ad, AS STAG A T #1 fas (v
=T E)

Sales of Books (in thousand numbers) from Six Branches - A1, A2, A3, A4, AS and A6 of a publishing
Company in 2006 and 2007.

A

AS KB

A2 A3 Ak
W2006 W 2007
2l il % ferg T A2 W HE farmt 2T o v wen A4 W FE fa @ s o g7
Wrnl'?lhllalionlmemalsaleeulbundmzhlbumyaarsh:thalnla\saJssolbrﬂnchA‘lurholh
years

@A) 6:7 ® 5:7 © 8:9 D 7:9

frefefa srpm #1 it & o #t sit ek ar s 9wl & )
RK59#B2%"E?A8LSI4SV7IC6N@H13&D

& e sfeEn F srmen v= Fifa #5582, 078, 4V,

Examine the following sequence closely and respond to the questions that follow.
RK59#B2%"E?ABLSI4SV7ICEN@H13&D

Determine the next term in the series : 542, *78, $4V,

(A) L8S (B) He# C) @ (D) H1&

R Wi A R O we vy, w0 el v ) e aw £
(A) ST A R T

(B) WU v F WP TR

(€} =G = Fd

(D) Tl AT

Inthe context, “They were caught red-handed trying o steal”, what does “caught red-handed” imply 7
(&) Gaught in the act of committing a crime

(B) Foundinjured

{C} Actof kindness

(D) Found with red-hands.

| AT W e E i w5
Identify the figure that completes the pattern.

7
X

(8) % ©)

afz A%B=A+B-1, A 10%2FME?
IfA%B =A+B—1, whatis 10% 27
@ 12 (B) 20 €y s o 1

& TE e U A e 9| Ha
Find the missing letter cluster in the given series :
BYHN,CWKM,EUNL,_____ . LQTJ

(A) HRPQ (B) GSPK (C) GRPK (D) HSOK
Treafefan 8 & ¥ @ #7043 wem g7

Which of the following sequences is different from the rest ?

a.  1,4,9,16 b 1,827,64

c. 26,1223 d. 1,16,81,256

Ay 2,6,12,23 () 1,16,81,256 (C) 1,4,9,186 (D) 1,8,27,64

s H T HeATd (A i B) A # 3 B —A T WA W )

Find the missing numbers (A and B) in the series and find the value of B—A.
11,22,33,A,55,66,77, B

A) 88 8) 33 C) 44 (D) 55
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112

113

i14

115

116

117

118

119

120

121

122

123

124

125

126

127

128

129

130

200 wrai & wm & s, 140 wET ) wres i e ¥ 120 v @ frewde vz &, sgo wr
=1 2wz # 1 e ol 91w A W Uw e kY

Based on a survey of 200 students, d like cold drinks, 120 and
80 students like both. How many students fixe at least one of the drinks ?
Ay 140 (B) 180 © 75 (@ 200

o i 10 i T i e &, 20 ez s & f 20 e sin e § e g
10 iz 2l i wea ¥ 9w vE A 39 % feadt v w2

(A) 51T (B) 25%= (C) 45 W= (D) 28 T

Aperson moves 10 meters north, then 20 meters 1o the right, then 20 meters to the right once more,
then 10 meters to the right again. How far has he gene from the beginning 7

{A) 51 meters (B) 25 meters (C) 45 meters (D) 28 melers

eI 1, 6, 23, 76, IR WA FW Faw
Find the next number in the series 1, 6, 23, 76,
(A) 148 (B) 198 (C) 237 (D) 274

7fz RED #1 UHG # 1 1 Fifea fm s & 3 BLUE 1 o w o =ife foem smom 2
If RED is coded as UHG. then BLUE will be coded as :
(A) ECHU (B) EOHX (€) FMUH (D) EOXH

=i ¥ 73 # T 7w 55 e | v A 62 el B = b 3 frn wfds A wem A € st
= i & T Wit w1 aw 50 el = 3P 60 el @ w0 &1 709 7 W e 8 T, 3o
7 58 Pl 3 vl B wa & A W aem F wd € @ i Rl S i w
s b7

InKarthik's opinion, his weight is greater than 55 kg but less than 62 Kg. His father does nol agree with
Karthik, and he thinks that Karthik’s weight is greater than 50 kg but less than 60 kg. His sister's view
is that his weight cannot be greater than 58 kg. If all are correct in their estimation, what is the average
of the different possible weights of Karthik 7

" & ® 5o ©) s ) s7

ot wram =@

Find the dissimilar word.

R54, W68, U3, L36, Y75

®) U3 B) Y75 (C) wes (D) R54

T g wE N L S D, RO, O RPL TR, M OB Z, AR G RS
foren < , 71 28 =1 ORGANISM® %3 feren smom 2

Ina cenaincode, N is writienas 'J', 5"as 0, 'Ras'Q, '0'as P, Tas i, M as Z. ‘A'as M and G’
a5°S", then how will ORGANISM’ be written in that code ?

(&) DZMSJPQK  (B) PQMKJZDS (C) PQSMJKDZ (D) PQDZSMKJ

F 9 H F A, TeE v, TaE A i T vie i wees 32 % i | b wm wisa 2
i A fgd w47

A party consisted of a man, his wife, his four sons and their wives and three children in each son's
family. How many were there at the party ?
w 2 | 23 (c) 18 © 20

v o e = H, o fren 1 3 e A, 195 Ferfl o s & o g el w6 A fern s @
i fm fom ¥ @m 7

W TE-g ® © I (D) FT-vim

In a compass every direction is rotated to 135 degrees from lhqmgmalﬂnﬂhn In which direction
will South-West be f the mtation took towards clockwise direction

(A) North-East (8) East {€) North (D) North-West

iz A 3w B % e v wen € 5, A H ol %1 T 20 8, B Wl W dom 1 R aa B AR
e = e 10 &, F njA U B) TE Ty

It Aand B are two sets such thal number of elements in A is 20, number of elements in B is 18 and
number of elaments in both Aand Bis 10, find n(A U B).

) 48 |) 18 © 28 © 38

FqATEA 1, 12, 144, ..., 20736 FA FrA0 1
Find the missing number 1, 12, 144, ..., 20736.
(A) 1782 (8) 1287 ) 1728 (D) 1278

M, N, O, P aiit Qi firs &1 33 & weli® #1 e siem-atem #10, P 3N @ o & sl dae M s
AT tiFmUTERiEN A Ta TR eEEA g

M, N, O, P and Q are five friends. Each of them has a different height. O is taller than P and N and
shorter than M and Q only. Only one person is shornter than N. Who is the shortest 7

m o 8 N © P o M

mmnmsmmtmﬁmmmmmmmmt F B T F a Un
A wa R

I!menameﬂagameummbyramqlhebnersﬂhwothwsaw thenwhat willbe
the sixth letter from the right end of the name of the game
A B ® s © E o T

3 79 T 1 R F ofn e F gl F A o e d 2
What is the angle between the hour and minute hands of a clock at 3 o'clock ?
(A) 50° B) 75° ©) 90° (D) 30°

a2 543 + /243 = 24.249 & 7 iG2 +15y3 T AR FEM?
If 543 + /243 = 24.249 , then what will be the value of Y792 +15y3 7

(A) 3784 (8) 40.84 (C) 39.84 (D) 38.84
W fag & T W AT A e am Hifa )

Find the number that comes in place of the question mark.

1:1:2:169

(A) 13 (B) 18 (C) 14 (D) 15

48 759 O W F 14 T § wowea $112 fET 5 7ol Zm e e wwE e 9n wte
48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.
(A) 9.8% (B 7.9% (C) 89% (D) 135%

6t U, V, W, X, Y SR Z A, mem & e, U wm R e 3 sl @ ot bW, v e g S de
1 = i, W S By, U S s dex, u A o b e # e wet s s iy
Among 6 persons U, V, W, X, ¥ and Z, it is known that; U is taller than at-least 3 persons. W is taller
than V, wha is taller than exactly 1 person. X is not shorter than W. Y is taller than U and X is shorter
than U. Who is 47 tallest among them 7

®w w ® X © v ) U

fergrt ks o o) % fere, o1 e A 2fgm =) i e e e k) e e sinopem § st
femen % g % far 15 st wme ¥ o e st o Pl fon 1 00 Fot g & s 59 it o
T % o7 8 T W ¥, T W o qE # o v F fo 8 i e ¥ e E W e
# T T A E7

) m (8) ¥ © o (0) wfem

Lihaan walks 8 m towards South from his office to reach park. Then he takes left and walks 15 m to
reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m lo reach coffee
mr;a(maleuammﬂﬂsml.uveechmmaOlﬁceisinmicﬁdimdionwimeupedlouham's

W South (8) North (©) East D) West
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131

132

133

134

133

136

137

139

140

141

& T sjEen @ AE W §E

Find the odd one from the given series :

4,16, 36, 64,100, 121, 196, 256

(a) 100 (B) 256 (C) 36 (D) 121

o 21 == =)
Find the odd one.

¢ @ -g -8

FA-T v e d T &2

) (B) #= c) (D) T
Which word does not belong in the group ?

(A) Banana (B) Apple (C) Cherry (D) Carrot
= P o ) A G Rk

@A) s (B) =hem a@feE (€)W (D) IT sEfw
Choose the option which is different from the rest.

(A) Argentina (B) SeuthAmerica (C) Europe (D) North America
At s awrd w8 E 2

(A) & e e (B) =i writ % femt frama &

(C) FHimwzATRAF A E (D) =6 F TEE A E

How are rivers and streams similar ?

(A)  Both are found in deserts (B) Both are static bodies of water
(C) Bothflow downhill (D) Both contain saltwater

fawen A, B, C 3 D 7 & foa (X) =1 7@ w=1-wiafaa i
Choose the correct water-image of figure (X) from alternatives A, B, C and D.

Le |

(X)

g foen 2 A Hem wedl F = & fo vl w fam ot
1 R, 2023 T 1Y 23 W 28 Wi % e
W s g s
WA FE 60% 3 A e vtk | A fui
205 H 50 9 A =gTeE 25 HE
iz Feiiean & WTH PG T B A e afes Her wemEm W S e e
aft SR f2r d =pn A% T T A, 0 W e % G i
=iy TR 3 T e S Wi At 5w €, 6w 7 % s
=k
Tt WA & ST T S R & f #-T i A
AT FAL : MSe. T FH HTER 62% HF F w7 fafe : 10 Fowd, 1990 1 g fovgw & w0
4 HR ] A9 T H 40% 3 wa R
) T T A
(B) = ovaa &
(C) = dz & fave A o an &
(D) =itean #) Afrw dewa HeE % w0 g b
Consider the conditions for selecting faculty members in a computer education centre :
Age between 2310 28 years as of November 1, 2023,
Work exparience or programming experience.
degree in computer tion with at least 60% marks.
Minimum of 25 marks in the interview out of 50.
If the candidate does not have PG, the case is ta be refemed to the senior faculty member.
If the candidate does not score minimum marks in the interview, the case is to be referred to
principal of the institute.
9. Ifthe candidate salisfies all other qualifications except the age limit. the case is 1o be referred lo
the director of the centre.
Which course of action should be taken for Manish Kumar based on the following information?
Manish Kumar : M.Sc. in Computer Science with 2% marks. Date of birth : July 10,1880. 4 years of
experience as a computer teacher. Obtained 40% marks in the interview.
(A) Candidate is not to be selected
(8) Datais inadequate
(C) Caseis to be referred to the director of the centre
(D) Candidate is o be selected as a junior laculty member

e ~sanoe

~eppEp

1 A, £, srpf (X) 9 foq T g | F- st T W
Find out which of the figures can be formed from the pieces given in figure (X) 7

7oN
(X)
(A ZI (B) B ) Y (D) m

Eraioa ke cadl
Find the next one.

HMAN
.d -A -p -V

foere sitn s wfes 1280 =fErdl =1 UF woE U wEEE H 99 A bl v 15 ol F g, U
fag §, 3w o frh fags 47

A group of 1280 individuals, consisting of teachers and students, is attending a conference. For every
15 students, there is one teacher. How many teachers are in the group ?

A) & (B) 8 € 7 o 75

formm 741
Find the odd cne out.

)

(®) } @ | N © ‘?(\-
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142

143

144

145

146

147

148

149

150

st # o v frefetan # 4 $A-w sngta s 2 D
Which of the following figures will came in the missing place in the below figure ?

e e RE
O »[V] =[A] =&

T B
W:ﬁﬁ_::w:

@A) TFA (B) T (C) s (D) =T
Complete the analogy :

Rain : Flood :: Drought :

(A) Storm (B) Harvest (C) Abundance (D) Famine

Frafefan sfaen § wom = # ve=m w1 (&
Identify the incorrect number in the following series.

12,10,6,1, -8, -18

A) 10 B -18 © 1 D) 12

T W 4, g TEenE 100 31 @ 9F T E v SRS, v faed siw wiee W w15 79 A
AT, s F 130 7% § A % 90 3% ¥, Wi 5 120 FEE SRR F no swH iR M

3 g H 30 siF wra fa, & «ifm 2 wEn § 39 fead ofw mEnl?

In & game, each player starts with 100 points. In each round, a player can gain of lose points. After

5 rounds, Alice has 130 points, Bob has 80 points, Charlie has 120 points, and David has 110 points.

1t David gained 30 points in the first 3 rounds, how many points did he lose in the last 2 rounds 7

A) 20 B) 30 € 10 D) 40

T T TN e 9, 25 Uil A Tam A uwa iz § am & w e ) ol w o mwm g un (&
= e b, A e @ ane @ wm § @ R Prate 501 $ g, st T 9 g den

®7

In a school sports club, 25 students decided 10 participate in a tabie tennis singles tournament. Each

time a student loses a maltch, they are eliminated from the tournament. What is the minimum number

of matches required to determine the winner 7

" ® ® 27 ©) 2 ) 25
ST R E, T TE F W I TR R F A T 0w w2 G
(A) TEw (B) T (G) TEEn () e

‘What is the shape of the cross-section, when a cone is cut by a plane paralle! to its slant height ?

(A) CGirde (B) Hyperbola (C) Parabola (D) Elipse

U AT 31 - T e w5 § i | G

() T S S e w0 S %1 g § s e ¥ sgga

(B) -ty sl s gl @ wra &7 €, watE i s S g 8 v e E

(C) =rFwir =i Bl F1 T % | wmnias w4 6 g W wwa §, mtE e
FA w7

(D) HiFmim S e i §, wEs - s s w6 ¥

A renewable and energy .
Non-renewable energy sources are more friendly than enargy
sources.

(B) N oy from the Sun, while renewable energy sources are
derived from the Earth.

© canbe i over time, whil energy

al £
sources cannol.
(D) Renewable energy sources are finite, while non-renewable energy sources are infinite.

few, o o g (zeem ) W HEn R B
Find out the number of triangles in the figure.

3/4|5\6
2
718
9A <z 13
14 16
15
(A) 46 (B) 80 (C) 32 (D) 39
dRA+BF M ETABRELAB R EfFA BFimTsRA-BT am EfmA, BFI T8 D
#, Frefefem B A FR-m e i ), KR e 27
KA+B Als the ther of B: Ax B Ais the father of B and A — B means Als the sister of
B, which of the following relations shows that | is the niece of K 7
A) Z-IxY+K (B) KxY+I-Z C) K+Y+Z-1 D) K+YxI-Z
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